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I No. No. No. No. No. it
SREHE | RAME | E= | REHE | KRRME| E= | REHME | KRMME| E | RGHE | KAME| E | REHE | RAME | E | FEHE | ZAME
1.000| 1.012]  +12[ 1.000] 1.012]  +12[ 1.000] 1.012]  +12| 1.000| 1.012|  +12| 1.000] 1.012|  +12
R No. * No. * No. * No. * No. * it
SREHE | RAIME | E | REHE | RRME| E | REHE | RRME| E | REHE | RRME| = | REHE | EAE | = | REHE | EAE
1.000| 1.012]  +12[ 1.000] 1.012]  +12[ 1.000 1.012]  +12| 1.000| 1.012|  +12[ 1.000] 1.012|  +12
I No. No. No. No. No. it
SREHE | RAME | E= | REHE | KRRME| E= | REHME | KRME| E | RGHE | KAME| E | REHE | RAME| E | FEHE | ZAME
1.000| 1.012]  +12[ 1.000] 1.012]  +12[ 1.000] 1.012]  +12| 1.000| 1.012|  +12| 1.000] 1.012|  +12
R No. * No. * No. * No. * No. * &t
BREHE | KA | = | REHE | KRB | E= | REME | RMME| E | RGHE | EKAME| E | RGHE | RAME| E | FEHE | ZAME
1,000 1.012]  +12| 1.000 1.012]  +12[ 1.000| 1.012]  +12[ 1.000 1.012|  +12| 1.000 1.012[  +12
A No. * No. * No. * No. * No. * it
BEHE | RAME | E | BREHE | S| E | BREHE | SME | £ | REHE | M| £ | REHE | BWE | £ | REtE | =0
1.000| 1.012]  +12[ 1.000] 1.012]  +12[ 1.000] 1.012]  +12| 1.000| 1.012|  +12| 1.000] 1.012|  +12
R No. * No. * No. * No. * No. * &t
BREHE | KA | = | REHE | KRB | = | REME | RME| E | RGHE | EKAME| E | RGHE | RAME| E | FEHE | ZAME
1,000 1.012]  +12| 1.000 1.012]  +12[ 1.000| 1.012]  +12[ 1.000 1.012|  +12| 1.000 1.012[  +12




